*k*k

PC

*%x
**k*k

*kkk

PC
PC
B
11
PC
JIS
LC 3.22g/cm? 3350cm?/g
B BB 3.04g/cm? 3750cm¥/g
ExM 2.85 g/cm? 3440cm*/g
S 2.58 g/cm® 1.92% 2.51
2005 G 2.70 g/cm® 0.41% 6.59
SP
AE Agl
AE Ag2

*k

Fkkk
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W/(C+ExM) | s/a (kg/m) ml/m?
) ) W c ExM s G Agl Ag2 sP
LC1-S 51.0 42.4 150 294 0 782 1110 14.7 735 1588
LC1-E 51.0 42 .4 150 264 30 779 1108 14.7 735 0
LC1-ES 51.0 42 .4 150 264 30 779 1108 14.7 735 2117
LC2 48.0 41.7 150 312 0 761 1115 15.6 780 0
LC2-E 48.0 41.7 150 282 30 759 1112 15.6 780 0
LC2-ES 48.0 41.7 150 282 30 759 1112 21.8 780 1114
BB 48.0 40.8 155 323 0 730 1110 16.2 808 0
BB-S 48.0 40.8 155 323 0 730 1110 16.2 808 1938
BB-E 48.0 40.8 155 293 30 730 1107 14.7 808 0
BB-ES 48.0 40.8 155 293 30 730 1107 16.2 808 1357
JIS A 1101 8.0+ 2.5 (cm) 12.0+ 2.5 (cm)
JIS A 1128 4.5+ 1.5 (%)
36N/mm?
JIS A 1108 56 28
JIS A 6204
JIS A 1123
JIS A 6202 2 7 150 250x 10
50 LC1-S LC1-ES
60 BB-S BB-ES
26.0 27.0
LC1-ES
LC1-S 45
3.5cm
7.5cm
15 45
3 7 14 28 56 91
1
20+ 1
20+ 2 R.H.60% 5%
3 7 14 21 28 LC2-E BB-E
LC2-E BB-E BB-E
LC2-E
LC2-E
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[—O—LCl-ESf ~~~~~~ -~~~ "~~~ ---- -

7 BB-E LC2-E
0.7 91 0.95
BB-E
20.0
23.0
LC2-E
LC2 100 80
LC2-ES
LC2-E 30 40
BB-E
BB 135 155
BB-ES
BB-E
35
LC1-E
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10 Hfmmmm _
LC2-E  BB-E 5 20 | —LC
2 0
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20
1 5 7 17.5
2 5 18 19.7
3 5 29 21.3
4 6 9 22.0
f(t)=50.3t/(8.72+0.92t) | T.(t)=47.6t/(15.69+0.85t)
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